


	Askari Bank Limited

	S #
	Folio #
	Cert From
	Cert To
	Dist From
	Dist To
	Qty
	Status

	1. 
	26073
	50681
	
	20065901
	20066000
	100
	available

	2. 
	26073
	282703
	
	42700801
	42700850
	50
	available

	3. 
	26073
	380306
	
	49475740
	49475761
	22
	available

	4. 
	26073
	439297
	
	63319760
	63319834
	75
	available

	5. 
	26073
	484824
	
	78497913
	78497936
	24
	available

	6. 
	26073
	565888
	
	88295795
	88295834
	40
	available

	7. 
	26073
	600130
	
	96340770
	96340784
	15
	available

	8. 
	26073
	623326
	
	100742959
	100742974
	16
	available

	9. 
	26073
	644750
	
	105719193
	105719209
	17
	available

	10. 
	26073
	666205
	
	110965094
	110965110
	17
	available

	11. 
	26073
	694150
	
	118759111
	118759147
	37
	available

	12. 
	26073
	726115
	
	126654913
	126654994
	82
	available

	13. 
	26073
	748952
	
	152502684
	152502783
	100
	available

	14. 
	26073
	748953
	
	152502784
	152502849
	63
	available

	15. 
	26073
	761640
	
	2037720123
	703720451
	329
	available

	16. 
	26073
	770109
	
	303779423
	303779767
	345
	available

	17. 
	26073
	778420
	
	408806353
	408806685
	333
	available

	18. 
	26073
	787022
	
	538449596
	538449928
	333
	available

	19. 
	26073
	795729
	
	64439793
	644398141
	199
	available

	20. 
	26073
	804081
	
	709697925
	709698253
	329
	available

	21. 
	26073
	814854
	
	1262726274
	1262726651
	378
	missing

	
	
	
	
	
	Total Shares:
	2904
	

	
	
	
	
	
	Total Available:
	2526
	

	
	
	
	
	
	Total Missing:
	378
	




Notes:
1. Here, I am attempting to apply ‘comma separation’ in the cells <G24> and <G25>, i.e. next to Total Shares, and Total Available below the table.
2. Total Shares is sum of Qty column.
3. Total Available is sum of Qty column for those rows that have ‘available’ in Status column, etc.
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